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Ouiz 11 ' Question 2 .j:([x): BXL ?
Determine if Rolles Theorem applies to the function f{2) = z* — 92 on
=3.0

Question 1 If so, find all numbers ¢ on the interval that satisfy the theorem.

N
[he function fis graphed below on the interval [0,10].Give the number of A b —f(o\) \-% ("3) b —F( b) ’:ﬁ 0) D \/
valuesc between 0 and 10 which satisfy the conclusion of the mmean value - /3
eoremier L S LT BCC/\“S)CC'\T 3) =D
b) c=+v3andec= —/3 C\;KOV —

c) c=-3
d) Rolles Theorem does not apply to this function on the given interval,
e) Zle=—/3

Question 3 -% —_ . E -l

X )= 2 3K :!
Determine if the function f(x) = 4 & — Z satisfies the Mean Value
Theorem on [1, 25]. If so, find all numbers ¢ on the interval that satisfy the

theorem.
Fro=f=3 Tes)=5b) = 4S—28=~5
R A - B §

a) c=-9 —'—‘[—-‘FCC) b O ..____\ - 3'

g = =2 J\ __\_‘-2
X 9%‘"\%" N ST s

a) 2 c) The Mean Value Theorem does not apply to this function on the given
interval.

b) 4 9
d) ¢ = 2

<) 3
e) c=18

d .1

Question 4
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1he graph of f(z) is shown. Find the z-value(s) where f'(z) = 0.

/«""4 \/‘yé x=0 Fbo=0

10

/ _ \
/ \

a) z -0

b - {-4.04}
c) r— —4

d) r— 4

e) —a—={-4.4}
Question 3

Find the intervals on which f(x) = 2 + 5z increases. = -S"<)<) >0

Foo=¢P+15C= gt =o
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a) o0, 0

o ted mam@cx)) IXERY
» (%) L0 (@ H6)-2X 5
c) (0, OC) (x —T)‘é ) x

2
15\ = —tx +5°36

o (Buum | AR
e) (—oq - ?) ¥ (0‘ -14—5) ——5x ) =~
Question 6 Cx'—{- 36)
Find the intervals on which f(z) = mﬂs_:‘?) decér(;es (—x \;6> =0

4 0f G

& b6 o
@ X=§56o0C —b6

a) (—6,6) "ﬁ:
<>< . N S

by _ (—oc,—6) ) - ——

o (—00,—6) U(6,00) -6 L

& (o 00) dw(wr‘?f (—ho =6)V (6,10)
e) - (611)
Question 7

Find the intervals on which f(z) — —02o 19,

ind the intervals on which f(x) e 9 increases.
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3 3 55 2 <) f(z) is never increasing on the given interval.
) (—oo,—l)u('g,ocr) ) 5

o - o [Z ) | $60 ={LsTneo aos@u)
o (oo d)o (L) %IWZW“% vl )58 =7 §i2x) =
o) 3B (e, o5 C—‘\ ‘—\~)U L___B_ /O'B e) [_ 2L = O T- 277]
5 5 .
Question 8 Ny Question 10 ?(—: O[ I Tr
Q)’ (><) Ll'x (6TX'> +ll 2 (‘G*L> Find the intervals on which f(x) = 7 cos®(.r) decreases forO <xr <

Find the intervals on which f{x) = 2z°(6 + r) increases.

= ¢o (612) [ 6o+ =\
a) - (3,00) = X () (6‘?2);>*'0 =>X=0,6,"3
(- Ox’f&l“ ,‘ —+ — —+ b) g“}f}
O (—o0.—6) 1(3,00) -2 0 _

. C{é&/@éﬁ%ﬂ\ \?ATMUQ\ .
Mm@«% Mw( o - |03 -
d) — (—oc0,00) - | CJI,TT‘]
o (=56, —6)U(=3,0) (=6:3) 0 (Do) o 0n >

Question 9 'f'{)():lﬂ—.zsrn()&) _\;_O -:-_'/D STKQ(): _‘ . ¢) _ f(z)is never decreases on the given interval.

a)

Find the intervals on.which f(2) = 22 — 2 ¢8s(r) increases for
0« < 2m | @X

£8y — ‘f‘amm}
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